MAIRCY

MARCY DIAMOND ELITE
OLYMPIC BENCH

MD-7911

IMPORTANT: Please read the Important Safety Notice and Assembly Information in the
Owner’s manual before assembling this product.

Assembly Manual
231004




@+® x1 @x‘] x‘] @X‘I

O©IMPEX 1INC.
WWW.marcypro.com



O©IMPEX
WWW.marcypro.com

Do

@

2INC.



/o [

@) M6 x %" x1

© |

@9 @ " x1

x1

- D
6D 4" x2

- D
634" x1

Mmm
p 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1

|||||||||||||||||||||||||||||||’|||||||||||||||||||||||||||||||‘||||||||||||||||||||||||||||||||
) 1" 2 3 4 5 6\\

O©IMPEX 3INC.
WWW.marcypro.com



GOM10 x 3 15" x4

GDIM10 x 2 %" x2

GOM10 x 2 %" x1

(
(
(
i—
é
d

GIM10 x 2 %" x2

GO M10 x 3 %" x2

61D M10 x 4 34" x1
€

MM
b 1 2 3 4 35 6 7 8 9 10 11 12 13 14 1

|||||||||||||||’|||||||||||||||’||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
y 1" 2" 3" 4 5 6\\

O©IMPEX 4INC.
WWW.marcypro.com



62 M10 x %" x2

S
il
<l

63 M10 x %" x13

64 M8 x %" x6

65 M8 x 1 %" x4 G 2" x1

\! 7 —
@ %" x30 €)@ %" x10 P

Mmm
b0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1

|||||||||||||||’|||||||||||||||’||||||||||||||||||||||||||||||||||||||||||||||| ||||||| T
) 1 2’ 3 4 \\

O©IMPEX 5INC.
WWW.marcypro.com



M10x3 %" @]ﬂmmumn x 4 M10x %"
X 6 ¢%" @

x1 M10

O©IMPEX 6INC.
WWW.marcypro.com



M10x3 %" o x 4 M10x %"
® %" A ©

x1 M10

O©IMPEX 7INC.
WWW.marcypro.com



M10x3 75"

~ 2
8 =
< <
X X X

O w

8©®E®

8INC.

O©IMPEX
WWW.marcypro.com



M10x %"
CD %u

3
3

£ ©

@ ®

9INC.

O©IMPEX
WWW.marcypro.com



10INC.

O©IMPEX
WWW.marcypro.com



CD%H

X 5

M10%2 %" ©
M10x2 1" £

M10x2 %"

M10

x 5

67 [ mmm x 2
58 (I mmm x 1
659 [ mmp x 2

11INC.

O©IMPEX
WWW.marcypro.com



X 2 Cb%"

|

© x1

I x 1 |v|10x4%" @

M10

68

x 1 ¢%llx4ll

12INC.

O©IMPEX
WWW.marcypro.com



x1 @%"

x 1 M6x %" o |

N

%Il

M10x

x 2

X

63 (o

¢%II

x 2

& ©

S 1 O xt

13INC.

O©IMPEX
WWW.marcypro.com



x4 D%

& ©

M8x1 %"

x 4

65 mmmmm

14INC.

O©IMPEX
WWW.marcypro.com



x6 %"

&) ©

M8x 7"

x 6

64) (mn

0

1

15INC.

O©IMPEX
WWW.marcypro.com



11

16INC.

O©IMPEX
WWW.marcypro.com



17INC.

O©IMPEX
WWW.marcypro.com



EXPLODED DIAGRAM

©IMPEX 18INC.
www.marcypro.com



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
www.marcypro.com
support@impex-fitness.com

O©IMPEX
WWW.marcypro.com

19INC.



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

